1/N,, dN,/dN_./dn do

Ratio to ATLAS

=
N

[ —

0.8

0.6

0.4

0.2

[EEY

0.5

13000 GeV pp

A l L N I L L L I N B
Nch (ATLAS UE in Z production)

B ATLAS
--G-- Pythia 6.428 345
----- £t Pythia 6.428 346
— —A— Pythia 6.428 370
— Pythia 6.428 default
— —— Pythia 8.308 default

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.10, = 2.5M events

— 1 T
B A

i Y L I
— g an %4

(1:) A Hu‘? - ﬁ
i sy 0 0 0%
B 4. o S

A WA
- (T TR
20 :
S LA
— Ry b Q@
] oX A
2 ‘l,‘
-
L < -" .
| | | | | | | | | [ 1= ~
[T T T T | T T T T | T T T T
u A . Beag
I 4 K ; Ll ‘
Ao WA A/ * A
o l‘\ £ J” // HD
- A - NS
A Ij (--'L_\ @

N




	Contents
	Page 1


